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Knitted in shade:
Catmeal 4204, Aran 4200,

Family Aran Sweater
MEASUREMENTS AND MATERIALS
To fit sizes 24 | 26 | 28 | 30 | 32 | 34 | 36 | 38 | 40 | 42 | 44 | 46 in
61 66 | 71 76 | 81 86 | 91 97 (102 |107 112 (117 cm
Garment measurement 28 | 29%| 32'%| 34 36 | 37z 40 | 422 44 | 45V 4B'z| 50% in
(approx) 71 75 | 82.5| 87.5| N 95.5/102 |108 |112 |1165| 123 | 1285 cm
Length from back neck 15 | 17 18%| 20va| 22%| 23 | 23%| 24 | 26 | 28% 27 | 27% in
(approx) 38 43 47 52 57 58.5| 59.5| 61 66 67.5| 68.5] 70 l cm
Length of sleeve seam 10%| 12%! 14 | 15%| 16%| 16%| 17 | 17 | 1B | 1B¥%{ 19 | 19 ' in
26.5| 31.5| 355 395 42 | 42 | 43 | 43 | 455 47 | 48 | 48 cm
JAROL SUPER SUPERWASH ARAN| 4 4 5 6 7 7 8 8 8 ] 9 | 10 |100gballs
This garment may also be knitted in Rambler Aran or Sweet Brier Aran.
1 pair size 4 mm {UK8—USAS) and 1 pair size 5 mm (UKB—USAB8) Milward knitting needles or the size of needles to give
correct tension.
Cable needle. Stitch holders.

IMPORTANT

These yarn amounts are based on
average requirements and are
therefore approximate.,

Jarol cannot accept responsibility
for the finished garment if any yarn
other than the recommended yarn is
used.

NOTES

Instructions are given for 24 in or 61
cm, larger sizes in square brackets.
Where only one figure is given this
applies to all sizes.

We suggest that you underline all the
figures for the size you require before
knitting.

TENSION

20stsand 25rowsto4dinor 10 cm
measured over Irish Moss st on size 5
mm needles or the size of needles to
give correct tension.

It is important to check your tension
before commencing the garment,
therefore knit a tension square.

If there are less sts orrows to 4 in or
10 cm than stated, change to thinner
needles.

If there are more sts or rows to 4 in or
10 cm than stated, change to thicker
needles.

ABBREVIATIONS

K = knit; P = purl; st{s) = stitch(es); inc
= increase{ing); dec = decrease(ing);
in = inch(es); cm = centimetres; mm
= millimetres; g = gramme; tog =
together; sl = slip; beg = begin(ning);
rep = repeat; alt = alternate; rem =
remain{ing); patt = pattern; cont =
continue; foll = following; approx =
approximately; 0 = no stitches, rows
or times to be worked for this size; C4F
= cable 4 front, slip next 2 sts onto
cable needle and place at front of work,
K next 2 sts from left hand needle, then
K 2 sts from cable needle; CAB = cable
4 back, slip next 2 sts onto cable needle
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and place at back of work, K next 2 sts
from left hand needle, then K 2 sts
from cable needle; T3B = twist 3
back, slip next st onto cable needle
and place at back of work, K next 2 sts
from left hand needle, the P st from
cable needle; T3F = twist 3 front, slip
next 2 sts onto cable needle and place
at front of work, P next st from left
hand needle, then K 2 sts from cable
needle.

BACK

Using 4 mm needles cast on 61 [65:
73:77:81:85:87:93:97:99:107:
111] sts.

1st Row: K1, * P1, K1, repfrom * to
end.

2nd Row: P1. * K1, P1, rep from * to
end.

1st and 2nd rows form rib,
Repistand2ndrows7[8:8:8:9:9:
9:9:9:9:9:9] times more, then 1st
row once more.

Next Row (Inc row); Inc in first st, {rib
2{3:4:5:6:7:0:2:3:2:3:4,incin
nextst)2(2:2:2:2:2:0:1:1:2:2:
2ltimes, rib2[2:4:4:4:4:4:4:5:4
:6:6], * incin each of next 2 sts, rib 2,
inc in next st, rib 3, inc in each of next
3sts, *(rib 2,incin next st, rib 3) 0[0: 0
20:0:0:1:1:1:1:1:1]time, rep
from*to*0[0:0:0:0:0:1:1:1:1:
1:1] time, (rib 2, inc in next st} 6 times,
rib 2, ** inc in each of next 3 sts, rib 2,
inc in next st, rib 3, inc in each of next
2sts, ** (rib 2, incinnextst, rib3) 0 [0 :
0:0:0:0:1:1:1:1:1:1]time, rep
from**to**0[0:0:0:0:0:1:1:1:
1:1:1]time, (rib2[2:4:4:6:6:0:4;
5:4:6:6],incinnextst)2[2:2:2:2:
2:0:1:1:2:2:2]times, rib4[6:6:8
:6:8:6:4:5:2:2:4].—84[88:96:
100:104:108:120:128:132:136:
144 :148] sts.

Change to 5 mm needles and work in
patt as follows;

1st Row (Right side): K1, (P1,K1) 2 [3:

5:6:7:8:11:0:1:2:4:5]times, *
(P1, K1) twice, P2, K4, P2, (K1, P1)
twice, P1,K8,P1, *repfrom *to * 00
:0:0:0:0:0:1:1:1:1:1]time
more, P1,K2, P1,T3B, P2, K4, P2, T3F,
P1,K2,P1,** P1,K8, P2, (K1,P1)
twice, P1, K4, P2, (K1, P1) twice, **
repfrom**to**0[0:0:0:0:0:0:1
t1:1:1: 1] time more, (K1,P1)2[3:5
'6:7:8:11:0:1:2:4:5]times, K1.
2nd Row: P1,{K1,P1)2(3:5:6:7:8:
11:0:1:2:4:5]times, * (K1, P1)
twice, K2, P4, K2, (P1, K1) twice, K1,
P8 K1, *repfrom*t0*0[0:0:0:0:
0:0:1:1:1:1:1] time more, (K1, P2)
twice, K3, P4, K3, (P2, K1) twice, **
K1, P8, K2, (P1, K1) twice, K1, P4, K2,
{P1, K1) twice, ** rep from ** to ** 0
[0:0:0:0:0:0:7:1:1:1:1])time
more, (P1,K1)2(3:5:6:7:8:11:0:
1:2:4:5]times, P1.

3rd Row: P1,(K1,P1)2[3:5:6:7:8:
11:0:71:2:4:5]times, * (K1,P1)3
times, C4B, P1, (K1, P1) 3 times, K2,
CAF,K2,P1, *repfrom*to *0[0:0:
0:0:0:0:1:1:1:1:1] time more,
P1,K2, T3B, P3, C4F, P3, T3F, K2, P1,
**P1,K2, C4F,K2,P1,(K1,P1) 3
times, C4B, (P1, K1) 3 times, ** rep
from**t0**0[0:0:0:0:0:0:1:71:
1:1:1]timemore, (P1,K1)2(3:5:6:
7:8:11:0:1:2:4:5]times, P1.

4th Row: K1,(P1,K1)2[3:5:6:7:8:
11:0:1:2:4:5]times, * (P1,K1)3
times, P4, K1, (P1, K1) 3 times, P8, K1,
*repfrom*t0o*0([0:0:0:0:0:0:1:
1:1:1:1]time, K1, (P4, K4) twice, P4,
K1, **¥ K1, P8, K1, (P1, K1) 3 times, P4,
(K1, P1} 3 times, ** rep from ** 1o **
0[0:0:0:0:0:0:1:1:1:1:1]time,
(K1,P1)2[3:5:6:7:8:11:0:1:2:4
: 5] times, K1.

5th Row:K1,(P1,K1)2[3:5:6:7:8:
11:0:1:2:4:5]times, * (P1,K1)
twicg, P2, K4, P2, (K1, P1) twice, P1,
(C4B) twice, P1, * repfrom *to * 0 [0 :
0:0:0:0:0:1:1:1:1:1] time more,
P1, C4B, P3, T3B, T3F, P3, C4F, P1,




** P1, (C4B) twice, P2, (K1, P1) twice,
P1,K4, P2, (K1, P1) twice, ** rep from
**to**0[0:0:0:0:0:0:1:1:1:1:
1] time more, (K1,P1)2[3:5:6:7:8:
11:0:1:2:4:5]times, K1,

6th Row: P1,(K1,P1)2[3:5:6:7:8:
11:0:1:2:4:5]times, * (K1, P1)
twice, K2, P4, K2, (P1, K1) twice, K1,
P8,K1, *repfrom*t0o*0[0:0:0:0:
0:0:1:1:1:1:1) time more, K1, P4,
K3, P2,K2,P2,K3, P4,K1, ** K1, P8,
K2, (P1, K1) twice, K1, P4, K2, (P1, K1)
twice, **rep from **to **0[0:0:0:
0:0:0:1:1:1:1:1])timemore, (P1,
K1)2[3:5:6:7:8:11:0:1:2:4:5]
times, P1.

7thRow: P1,(K1,P1)2[3:5:6:7:8:
11:0:1:2:4:5]times, * (K1,P1)3
times, C4B, P1, (K1, P1) 3 times, K2,
CaF,K2,P1, *repfrom*to*0[0:0:
0:0:0:0:1:1:1:1:1] time more,
P1, K4, P2, T3B, P2, T3F, P2, K4, P1,
** P1,K2, C4F, K2, P1, (K1,P1)3
times, C4B, (P1, K1) 3 times, ** rep
from**to**0[0:0:0:0:0:0:1:1:
1:1:1]) timemore, (P1,K1)2[3:5:6:
7:8:11:0:1:2:4:5]times, P1.

8th Row:K1,(P1,K1)2[3:5:6:7:8:
11:0:1:2:4:5]times, " (P1,K1)3
times, P4, K1, (P1, K1) 3 times, P8, K1,
*repfrom*to*0[0:0:0:0:0:0:1:
1:1:1:1]time more, K1, P4, K2, P2,
K4, P2, K2, P4,K1, ** K1, P8, K1, (P1,
K1) 3 times, P4, (K1, P1) 3 times, **
repfrom**to** 0[0:0:0:0:0:0:1
:1:1:1: 1] timemore, (K1P1)2(3:5:
6:7:8:11:0:1:2:4:5] times, K1.
9th Row: K1, (P1,K1)2[3:5:6:7:8:
11:0:1:2:4:5]times, * (P1,K1)
twice, P2, K4, P2, (K1, P1) twice, P1,
K8,P1,*repfrom*t0o*0[0:0:0:0:
0:0:1:1:1:1:1]timemore, P1, K4,
P1,T3B, P4, T3F, P1,K4, P1, ** P1,
K8, P2, (K1, P1) twice, P1, K4, P2, (K1,

P1) twice, **repfrom ** 10 ** 0 [0:0;

0:0:0:0:1:1:1:1:1] time more,
(K1,P1)2[3:5:6:7:8:11:0:1:2:4
: 5] times, K1,

10th Row:P1,(K1,P1)2[3:5:6:7:8
$11:0:1:2:4:5]times, * (K1, P1)
twice, K2, P4, K2, (P1, K1) twice, K1,
P8, K1, *repfrom*to*0([0:0:0:0:
0:0:1:17:1:1:1] time more, K1, P4,
K1,P2,K6, P2, K1, P4,K1, ** K1, P8,
K2, (P1, K1) twice, K1, P4, K2, (P1, K1)
twice, **repfrom **to **0[0:0:0:
0:0:0:1:1:1:1:1] time more, (P1,
K1)2[3:5:6:7:8:11:0:1:2:4:5]
times, P1. 5

11th Row:P1,(K1,P1)2[3:5:6:7:8
$11:0:1:2:4:5] times, * (K1,P1)3
times, K4, P1, (K1, P1) 3 times, K8, P1,
*repfrom*to*0[0:0:0:0:0:0:1:
1:1:1:1] time more, P1, C4B, T3B,
P6, T3F, C4F, P1, ** P1,K8, P1, (K1,
P1) 3times, K4, (P1, K1) 3 times, **
repfrom**t0**0[0:0:0:0:0:0:1
:1:1:1:1]time more, (P1,K1)2 [3:5
:6:7:8:11:0:1:2:4:5] times, P1.
12th Row: K1,(P1,K1)2([3:5:6:7:8
$11:0:1:2:4:5]times, * (P1,K1)3
times, P4, K1, (P1, K1) 3 times, P8, K1,

*repfrom*t0*0[0:0:0:0:0:0:1:
1:1:1:1] time more, K1, P6, K8, P6,
K1, ** K1, P8, K1, (P1, K1) 3 times, P4,
(K1,P1) 3times, ** rep from ** to **
0[0:0:0:0:0:0:71:1:1:1:1]time
more, (K1,P1)2[3:5:6:7:8:11:0:
1:2:4:5]times, K1.

These 12 rows form the patt for the
31[33:37:39:41:43:49:53:55:57
: 61 :63] sts at each side in Irish Moss
st and cables.

Keeping these 31 [33:37:39:41:43;
49:53:55:57:61:63] stsin patt as
set, cont to work patt over centre 22
sts as follows:

13th Row: P1, K2, C4F, P8, C4B, K2,
P

14th Row: K1, P6, K8, P6, K1,

1P?th Row: P1, C4B, T3F, P6, T3B, C4F,
16th Row: K1, P4, K1, P2, K6, P2, K1,
P4, K1.

17th Row: P1,K4, P1, T3F, P4, T3B,
P1,K4, P1.

18th Row: K1, P4, K2, P2, K4, P2, K2,
P4, K1.

19th Row: P1,K4, P2, T3F, P2, T3B,
P2, K4, P1.

20th Row: K1, P4, K3, P2, K2, P2, K3,
P4, K1.

21st Row: P1, C4B, P3, T3F, T3B, P3,
C4F, P1.

22nd Row: K1, (P4, K4) twice, P4, K1.
23rd Row: P1, K2, T3F, P3, C4F, P3,
T38B, K2, P1,

24th Row: (K1, P2) twice, K3, P4, K3,
(P2, K1) twice.

25th Row: P1,K2, P1, T3F, P2, K4, P2,
T3B, P1,K2, P1.

26th Row: K1, (P2, K2) twice, P4, (K2,
P2) twice, K1.

27th Row: F1,K2, P2, T3F, P1,K4, P1,
T3B, P2, K2, P1.

28th Row: K1, P2, K3, P2, K1, P4, K1,
P2, K3, P2, K1.

29th Row: P1, K2, P3, T3F, C4F, T3B,
P3, K2, P1.

30th Row: K1, P2, K4, P8, K4, P2, K1.
31st Row: P1, K2, P4, (C4B) twice, P4,
K2, P1.

32nd Row: As 30th row.

33rd Row: P1, K2, P3, T3B, C4F, T3F,
P3,K2,P1.

34th Row: As 28th row.

35th Row: P1,K2, P2, T3B, P1, K4, P1,
T3F, P2, K2, P1.

36th Row: K1, (P2, K2) twice, P4, (K2,
P2) twice, K1.

These 36 rows form patt.

Cont in patt until work measures 9
[10%2:1172:13:14:14:14:14:15:
15:15:15]inor23[265:29:33:35.5
1 35.5:35,5:35.5:38:38:38:38]cm
from beg, ending with a wrong side
row.

Shape Raglan Armholes

Keeping pattcorrectcastoff 3(3:4:3
:4:5:5:6:6:7:7:8]stsat beg of
next 2 rows.

Dec 1 st at each end of 0 [next : next ;
0:0:0:0:0:0:0:0:0] row.

Patt0[1:1:0:0:0:0:0:0:0:0:0]
row, —78(80:86:94:96:98:110;
116:120:122:130:132] sts.

Dec 1 st at each end of next 3 rows, —
72[74:80:88:90:92:104:110:114
1116:124:126] sts.

Patt 1 row."*
Replastdrows8(8:9:10:7:6:9:
10:8:6:8:7] times more. — 24 [26:
26:28:48:56:50:60:66:80:76:
84] sts.

For 32, 34, 36, 38, 40,42, 44 and 46 in
or 81, 86,91,97,102,107,112 and
117 cm Sizes Only

Keeping patt correct dec 1 st at each
end of next and every foll alt row until
[28:30:32:34:36:38:38:40]sts
rem.

Patt 1 row.

For All Sizes
Sl sts onto a st holder.

FRONT

Work exactly as given for Back to **.
Replast4rows4(4:5:6:7:6:9:10:
8:6:8:7]times more. — 48 [50:50:
52:48:56:50:50:66:80:76:84]
sts.

~For 24, 26, 28 and 30 in or 61, 66, 71

and 76 cm Sizes Only

Keeping patt correct dec 1 st at each
end of next 2 rows. — 44 [46 : 46 : 48]
sts.

For 32, 34, 36, 40,42, 44 and 46 in or
81,86,91,102,107,112and 117 cm
Sizes Only

Keeping patt correct dec 1 st at each
endofnextandfoll [2:5:0:6:11:9:
12] altrows. — [42:44:48:562:56:
56 : 58] sts.

Patt 1 row.

For All Sizes

Shape Neck

Next Row: Work 2 tog, patt 15[16:16
:16:13:14:156:16:16:18:17:18],
turn.

Complete first side as follows:

***For 24, 26, 28 and 30 in or 61, 66,
71 and 76 cm Sizes Only

Cont to dec 3 sts from every 4 rows
{from previous 4th row) at armhole
edge, as before, at the same time dec
1 st at neck edge on next 4 rows, then
foll 1[2:2:2]altrows. —7[5:5:5] sts.
Keeping patt correct and neck edge
straight cont to dec 3 sts from every 4
rows at armhole edge, as before, until
2 stsrem.

***For 32, 34, 36, 38, 40,42, 44 and
46in or 81, 86, 91,97, 102,107, 112
and 117 cm Sizes Only

Dec 1 st at armhole edge on every foll
alt row at the same time dec 1 st at
neck edge on next 4 rows, then foll 2 :
3:3:4:4:5:4:5]altrows. —[4:3:4
:3:3:3:4:3] sts,

Keeping'patt correct and neck edge
straight cont to dec 1 st at armhole
edge on every foll alt row until 2 sts
rem,
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For All Sizes

Patt 1 row.

Next Row: K2 tog and fasten off,
Slcentre10[10:10:12:12:12:14:
14:16:16:18:18] stsonto a st
holder.

With right side facing rejoin yarn at
neck edge of rem 17 [18:18:18:15:
16:17:18:18:20:19: 20] sts, patt to
last 2 sts, work 2 tog.

Complete second side to correspond
with first side from *** for
appropriate size.

SLEEVES (Both Alike)

Using 4 mm needles cast on 29 [31 :
33:35:39:41:43:47:51:53:55;
57]) stsand work 15[15:15:15:17:
17:17:17:17:17:17: 17 rows in
rib.

Next Row (Inc row}: Inc in first st, (rib
1,incinnextst)0[0:1:1:2:3:3:4:
4:4:5:5]times, rib3[2:1:1:1:1:2
:2:4:5:4:5],incineachof next4 [6:
6:7:7:6:6:6:6:6:6:6]sts,(rib 1,
inc in next st) 3 times, inc in each of
next 2 sts, (rib 1, inc in next st) 3 times,
incineachofnext3[5:5:6:6:5:5:
5:5:5:5:8]sts,rib3[2:1:1:1:1:2
:2:4:5:4:5], (incinnextst, rib1)0 [0
11:1:2:3:3:4:4:4:5:5) times, inc
inlastst. —46[52:56:60:66:68:70
:76:80:82:86:88] sts.

Change to 5 mm needles and work in
patt as follows:

For 24, 26, 28 and 30 in or 61, 66, 71
and 76 cm Sizes Only

1stRow: KO[0:1:3],P0O[1:2:2], (K1,
P1)1[2:2:2]times, P1, K8, P2, K2,
P1,T3B, P2, K4,P2, T3F, P1,K2, P2,
K8, P1,(P1,K1)1[2:2:2]times, PO[1
12:2,K0[0:1:3]).

2nd Row: PO [0:1:3],K0[1:2:2],
(P1,K1)1[2:2:2]times, K1, P8, K2,
P2,K1, P2, K3, P4,K3,P2,K1, P2, K2,
P8, K1, (K1,P1)1[2:2:2] times, KO 1
:2:2],PO[0:1:3]

3rd Row: Incinfirstst, KO [0:0:2], PO
[1:1:1],(K1,P1)1[2:3:3] times, K2,
C4F, K2, P2,K2, T3B, P3, C4F, P3, T3F,
K2, P2,K2, CAF, K2, (P1,K1)1[2:3:3]
times, PO[1:1:1],KO[0:0:2],incin
last st. — 48 [54 : 58 : 62] sts.
4thRow: PO [0:2:4],KO[1:1:1],(P1,
K1)2[3:3:3] times, P8, K2, (P4, K4)
twice, P4, K2, P8, (K1,P1)2[3:3:3]
times, KO[1:1:1],P0[0:2:4].

These 4 rows set position of the 36
row patt as given for Back.

Cont in patt as given for Back as set
and work inc sts into patt until 66 sts
are in patt, then working further inc sts
in irish Moss st, inc 1 st at each end of

2nd [2nd : 3rd : 4th] and every foll 3rd
[4th : 4th : 5th] row until 74 [80: 70 :
90] sts are on needle, then every foll 0
[0:5th: 0] row until 74 [80 : 84 : 90] sts
are on needle,

For 32, 34, 36, 38,40,42, 44 and 46 in
or 81,86,91,97,102,107,112 and
117 cm Sizes Only
1stRow:K[0:1:0:1:1:0:0:1],(P1,
K1)[0:0:1:2:3:4:5:5] times, P2,
K4, P2, (K1, P1) twice, P1,K8, P2, K2,
P1, T3B, P2, K4, P2, T3F, P1,K2, P2,
K8, P2, (K1, P1) twice, P1, K4, P2, (K1,
P1)[0:0:1:2:3:4:5:5]times, K[0:
1:0:1:1:0:0:1].

2nd Row: P [0:1:0:1:1:0:0:1],
(K1,P1)[0:0:1:2:3:4:5:5]times,
K2, P4,K2, (P1, K1) twice, K1, P8, K2,
P2,K1,P2,K3,P4,K3,P2,K1,P2, K2,
P8, K2, (P1, K1) twice, K1, P4, K2, (P1,
K1)[0:0:1:2:3:4:5:5]times, P [0:
1:0:1:1:0:0:1].
3rdRow:P[0:1:0:1:1:0:0:1], (K1,
P1)[1:1:2:3:4:5:6:6] times, C4B,
P1, (K1, P1) 3 times, K2, C4F, K2, P2,
K2, T3B, P3, C4F, P3, T3F, K2, P2, K2,
C4F, K2, P1, (K1, P1) 3 times, C4B, (P1,
K1)[1:1:2:3:4:5:6:6] times, P [0:
1:0:1:1:0:0:1].

4th Row: K[0:1:0:1:1:0:0:1],(P1,
K1)[1:1:2:3:4:5:6:6:]times, P4,
K1, (P1, K1) 3 times, P8, K2, (P4, K4)
twice; P4, K2, P8, K1, (P1, K1) 3 times,
P4, (K1,P1)[1:1:2:3:4:5:6:6]
times, K[0:1:0:1:1:0:0:1].
These 4 rows set position of the 36
row patt as given for Back.

Cont in patt as set and working inc sts
in Irish Moss st inc 1 st at each end of
next and every foll [6th : 5th : 5th : 6th ;
6th : 6th : 6th : 6th] row until [86: 88 :
80:94:98:110:98:94] sts are on
needle, then every foll [6th: 6th : 6th:
7th:7th:0: 7th: 7th] row until [94 : 96
:98:100 :106:110:112:114] sts are
on needle.

For All Sizes

Cont straight in patt until work
measures 10%2 [12V2:14:15V2: 16%
$16%2:17:17:18:18%:19:19]inor
265(31.6:355:395:42:42:43:43:
45.5:47 : 48 48] cm from beg, ending
with a wrong side row.

Shape Raglan Top

Keeping patt correct castoff 3[(3:4: 3
:4:5:5:6:6:7:7:8] sts at beg of
next 2 rows.

For 34, 36, 38, 40,42, 44 and 46 in or
86,91,97,102,107,112and 117 cm
Sizes Only

Keeping patt correct dec 1 st at each

end of nextandfoll [4:10:13:16:20
:24:27] altrows. — [76:66:60:60;
54 :48:42] sts,

Patt 1 row.

For All Sizes

Keeping patt correct dec 1 st at each
end of next 3 rows, — 62 [68:70:78:
80:70:60:54:54:48:42 : 36] sts.
Patt 1 row.
Replast4rows5(4:7:5:12:10:8:
7:7:6:5:4] times more. — 32 [44 :
28:48:8:10:12:12:12:12:12:12]
sts.

For 24, 26, 28 and 30 in or 61, 66, 71
and 76 cm Sizes Only

Dec 1 stat each end of next 12 [18: 10
: 20] rows. — 8 sts.

For All Sizes
Sl sts onto a st holder,

NECKBAND

Pin sleeves into raglan armholes
leaving left back raglan open. With a
backstitch sew Sleeves in position.
Using 4 mm needles and with right
side facing K8 [8:8:8:8:10:12:12:
12:12:12:12] sts from left sleeve
top, pickupand K 14[14:14:14:14:
14:16:16:16:18:18:18] sts evenly
from left side of front neck, work
across sts from front neck st holder as
follows:K2(2:2:2:2:2:3:3:3:3:4
14],K2tog, K2[2:2:4:4:4:4:4:6:
6:6:6],K2tog, K2([2:2:2:2:2:3:3
:3:3:4:4], pickupand K13 [13:13:
13:13:13:156:15:15:17:17:17]
sts evenly from right side of front
neck,K8[8:8:8:8:10:12:12:12:
12:12:12] sts from right sleeve top
and work across sts from back neck st
holder as follows: K2 [3:3:2:2:3:3;
4:3:4:4:4),K2tog,(K4[4:4:5:5:5
16:6:7:7:7:8], K2tog) 3times, K2 [3
13:3:3:4:3:4:4:5:5:4,.—71[73
173:77:77:83:95:87:101:107:
109:111] sts.

Beg with 2nd row work 13[13:13:13
:15:15:15:156:15:15:15:15] rows
in rib,

Cast off loosely in rib.

TO MAKE UP

See ball band for pressing and
washing instructions.

With a backstitch sew left back raglan
seam and neckband seam.

Fold neckband in half onto wrong side
and slip st neatly in position.

Join side and sleeve seams.
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